Precalculus Honors

Study Guide 4.3-4.5 and 4.7 J
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3. The town of Monotony has a very odd weather pattern: every day’s temperatures follow
the same pattern, with a high temperature of 80° at 2:00 pm, and a low temperature of 58°
at 2:00 am. Let t represent the number of hours since midnight (on some given day) and

write a sinusoidal model for the temperature as a function of t.
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Calculator Review Questions:
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Part I: Sketch a graph of the following without using your calculator. Graph in

=3 sin ZLX‘%)... \
radians and graph 2 periods! Make sure you

label scales on BOTH axes. Plot critical values as well.
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Part II: Without using your calculator, solve the equations over the given interval.
Express your answers in radians.
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ulator to solve the following equations over the given interval.
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Part IV: Write a sinusoidal equation to describe the following situations. Then, use
your equation to answer the accompanying questions.

12) A Ferris wheel is 80 feet in diameter and its center is 45 feet above the ground. It takes the Ferris
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b) After how many seconds will the rider be at a height of 50 feet?% 55{ (= © (ﬂfﬁf-
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¢) How high will the rider be after 1 minute into the ride?
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13) The temperature in our classroom varies sinusoidally during the school day. At 8am, theM
room is at a high temperature of 75 degrees (F). Your friend records the temperature at 9:30 to
be at a low of 62 degrees. (Note, the day really starts at midnight or 12 am. Be sure to adjust

your graph and solutions accordingly!)
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¢) When is the first time the temperature will reach its low value of 62 degrees?
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Part V: Sketch 2 periods of each of the following functions. Plot specific points and
be as accurate as possible. (No calculators)
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Part VI: Find the exact values of each of the following. Remember to keep in mind
the domains and ranges for the inverse functions. (No Calculator)
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Part VII: Use a calculator to find an approximate value (round to two decimal
places and answer in radians).
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Find the domain and range of each:
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